PERFORMANCE TECHNOLOGY

Wheels Wheel Nuts - M4 Serrated Flanged

U4365  Wheel; Hex Rear - Black - Off Road - pr CR024 CORE RC - Serrated M4 Steel Wheel Nut pk4 -

U4366  Wheel, Hex Rear - White - Off Road - pr CR035 CORE RC - Serrated Alloy M4 Nuts; Blue pk 4 *#ﬂ

U4495  Wheel; Hex Front - Black - 4wd - pr CR036 CORE RC - Serrated Alloy M4 Nuts; Violet pk 4 H“"-m‘

U4496  Wheel; Hex Front - White - 4wd - pr CR196 CORE RC - Serrated Alloy M4 Nuts - Black - pk4 " N
U7458  Wheel Front 4WD - Neon Yellow v2 - pr CR304 CORE RC - Serrated M4 Titanium Wheel Nut pk4 U9332 KB )
U7459  Wheel Front 4WD - Neon Yellow v2 - 5pr U7400  Serrated M4 Low Profile Titanium Wheel Nut pkd U9331 AL

U7460 Wheel Rear Off-Road - Neon Yellow v2 - pr

U7461  Wheel Rear Off-Road - Neon Yellow v2 - 5pr
U7468  Wheel Front 4WD - White - 5pr
U7469  Wheel Rear Off-Road - White - 5pr

U3351 83T KB
U3790 76T CNC
U7616 78T CNC
U7615 80T
U3350 82T CNC

U7952 KB
U8381 AL

_ U2699 KB
2 U7725 PRO

U7671 71T KB
U7670 76T CNC

U9333 KB
g Us897 AL

U3136 KB
U4344 Ce

U9282 S2

U7386 FULL U9326 C/F
U8436 SOFT U3364 KB
U8437 HARD Craga T U8862 HP,

U9256 KB
U9212 HRC|

U7106

U2699 KB
U7725 PRO R
U9251 KB U9252 83T KB 9302 AL U9218 KB
U8334 AL U9324 72T CNC 18990 AL
U9310 78T
U9308 80T CNC
U9309 83T CNC
U2699 KB
U7725 PRO U9219 KB
U9228 AL

U9239 KB

U9298 AL Omm
U9297 AL 1.25mm
U9296 AL 2.5mm

U9214 KB
U9289 HRC

u9280 C/F
U9338 S2

[

F f‘ M
U718 11 |
. U9250 KB
U7318 Ti 09335 C/F U3021

ug704 UM
uUs691 CVD

U9281 S2
U9325 C/F

U9235 KB
U9302 AL

usars U4275 KB

CR282 Ti

U7711 KB
U4314 AL

g ~

A
U773 g (U7329
"- e
U9249 KB
o}

U8612 KB
uU8648 C/F

U7624 KB

U9233 2Gear U9293 AL

} —|U7611
(09204 U9239 KB

U9298 AL Omm
: U9297 AL 1.25mm| QA28
= o » f‘h U9296 AL 2.5mm
U4274 KB Y3297 K8 AW
CR280 Ti U7314 Ti JA2TOKE U7711 KB e KB
| (Uds14AL u7785
° -N U8619 4.0mm = U9215 KB
- U8429 4.5mm KB U9300 Ti 1 oF
U9217 5.0mm
U7646 5.25mm -U8275 .
H ] U7398 6.0mm 3 3 9225 U/J U3075 KB

Big Bore Sprmgs. Rear (ang) . . U7402 6.75mm U9334 CVD, u7730 PRO '-U3572 I Bgi’gg ggllelrr
CR178 CORE RC Big Bore Spring Tuning Set; Long 7prs U8543 7.5mm U9243 KB

: g : U9290 AL U9216 KB U4299 KB U3075 KB T U8437 HARD
CR184  Big Bore Spring; Long White - 1.8 pr U9299 Ti U7518 Ti U7730 PRO 3
CR185 Big Bore Spring; Long Red - 2.0 pr U9241 KB h TR

: : U9336 C/F 4 .
CR186 Big Bore Spring; Long Green-2.2 pr KB 07711 KB o |Ua204 AL| “f .
CR187  Big Bore Spring; Long Blue - 2.4 pr Big Bore Springs Front (Medium) U8814 KB 04314 AL U7122 -
CR188  Big Bore Spring; Long Black - 2.6 pr CR177 CORE RC Big Bore Spring Tuning Set; Med 7prs U8443 1 Dot i 7 L
CR699  Big Bore Spring; Long Orange - 2.8 pr CR179  Big Bore Spring; Med White - 2.8 pr Hgﬁg % Bg} g B T
CR700 Big Bore Spring; Long Yellow - 3.0 pr CR180 Big Bore Spring; Med Red - 3.1 pr < 09279 CF
CR808  High Response Spring; Long Red - 2.0 Ibfin (pr) CR181 Big Bore Spring; Med Green - 3.4 pr asie ks Udss7 52 o\ Ud2i1KB
CR809 High Response Spring; Long Green - 2.2 Ib/in (pr) CR182 Big Bore Spring; Med Blue - 3.7 pr KB T
CR810  High Response Spring; Long Blue - 2.4 Ib/in (pr) CR183  Big Bore Spring; Med Black - 4.0 pr us411 KBl [u7988 KB 09247 KB [_5]
CR811  High Response Spring; Long Black - 2.6 Ib/in (pr) CR635  Big Bore Spring; Med Orange - 4.3 pr § |U8385AL nggg ﬁl[ g 09305 CNC
CR812  High Response Spring Tuning Set Long 4prs CR636  Big Bore Spring; Med Yellow - 4.6 pr U8384 AL 10°

U2698 KB
EXPLODED VIEW KEY: U4946 Pro

KB = Kit Build, AL = Alloy, BR = Brass, CF = Carbon Fibre, CFf = Carbon Fibre Filled, Ti = Titanium, S2 = S2 Material, D/J = Double Joint
KC = Kashima Coated, Mf = Medium Flex, Sf = Stiff Flex, CNC = Machined, Pro = Precision Bearing, Ce = Ceramic Bearing




